When Did Who
Pour the Beer?

There have been several responses con-
cerning our first permanent problem. This
problem, originally numbered O/N 3, is
now officially numbered PERM 1. A spin-
off of this problem is now presented as
MAY 2. As you may recall, PERM 1 asks
you to comstruct expressions yielding all
the integers using only the digits 1, 9, 7,
and 3 together with various operators. By
far the most controversial operator is the
square brackets denoting greatest integer.
As a result of this controversy I will print
revised solutions if someone can generate
an integer without the square brackets
(see “Better Late Than Never,” below).

Eric Jamin has answered a query of
Phelps Meaker. Mr. Jamin points out that
J/A 3 first appeared in Dudeney’s Amuse-
ment in Mathematics (Dover, 1958).
MAY 1. The following bridge problem
is from Michael Kay:

AK32
¥v752
*]53
&#KQ72
AAQTI105
¥X64
OAQT
dA]
Bidding:
N E S w
1C 1H
DBLE P 1S P
28 P 3H P
4C P 4D P
6S P P P

North-South, playing the precision club
system, arrive at an optimistic contract of
six spades. The opening lead is WA, fol-
lowed by $Q. East follows to the second
heart as you win with the king. How can
south make the contract?

MAY 2. Prove that PERM 1 can be
solved for all integers. Bruce Appleby has
sharpened this natural conjecture to the
following: Let n be any integer greater
than 2. Prove that the set of numbers

{ \/\/\m““x} is dense on

the interval [1, o).

MAY 3. Hervé Thiriez is interested in
square matrices composed of just zeros
and ones. He feels that any such matrix
of size n by n can have determinant no
greater than Fy (F for Fibbonacci) where
Fy is defined by F; = Fy = 1 and for n

at least three Fn = Fn—1 + Fn—2. There
is an example to show that Fy is actually
achieved. Is M. Thiriez correct?
MAY 4. Neil Cohen wants to know how
many different possible bridge auctions
(legal sequence of bids) there are.
Jim Cassidy wants to know about some
Hanky Panky At The Picnic:
MAY 5. There was this picnic attended
by Belinda the wife, Henry her husband,
Joe their son, Mimi their daughter, and
Pete, Belinda’s brother. At some time dur-
ing the picnic one of the members poured
a can of beer over the head of another
member. At that time:
1. A man and a woman were at the table.
2. The victim and the guilty one were at
the beach.
. One of the children was in swimming.
. Belinda and her husband were not
together.
. The victim’s twin was not the guilty
one.
6. The guilty one was younger than his
victim,
Who done it?

o W

Speed Department
Frank Rubin has submitted the follow-
ing:
SD 1 Many problems present scores on a
target such as 17, 23, 29, 32, 40, 49, and
ask how a shooter totals 100 points. I want
you to devise a best such problem in the
following senses (i.e. there are two prob-
lems here):
1. The target whose score total is maxi-
mum and on which some number from 1
to 100 cannot be achieved.
2. The target whose score total is a max-
imum on which a score of 100 cannot be
achieved.
Note that in each part all scores must be
distinct integers in the range 1 to 100.
Winthrop M. Leeds has sent the fol-
lowing quickie which he attributes to Sam
Lloyd.
SD 2 On a chessboard, place the White
king on QB3, the White queen on KN4,
and a white bishop on KN1. The problem
is to place the Black king on a particular
square where it is not in check and yet
where White on the move can Mate in
one.

Solutions
The following solutions are to problems
published in the January issue.

Puzzie Corner

y
Allan J. Gottiieb

O/N 1 as revised in January: Given a game
consisting of all legal moves terminating
with the board as shown—what piece
(black or white) is at x?

The following solution is from Theodore
Mita:
The piece on White’s KR4 is White’s
black-square bishop.
1. BlacKk’s king is in check, so White's last
move was to take Black’s piece on Q8
with his pawn, promoting it to a rook.
2. The piece taken by this pawn was not
a rook or a queen, since Whiie’s king is
on the eighth rank and White would have
been in check prior to Black’s last move.
Black’s black-square bishop must never
have moved (pawns on Black’s K2 and
KN2) and there are two Black knights on
the board; so the piece taken by this pawn
was a promoted Black pawn. This accounts
for all eight black pawns.
3. The piece, X, could not be Black’s
queen or a Black rook again due to the
placement of the White king. Also, Black’s
dark-square bishop and his two knights are
accounted for, as are all his pawns (see
2). Thus the piece was White,
4. The minimum number of White pieces
taken by Black’s pawns (including the
KRP which promoted) is 5. White has 10
pieces showing on the board, so 5 is the
maximum number of pieces Black can
have taken in order for a piece to be on
White’s KR4,
5. All five pieces taken by Black’s pawns
were on White squares, so the only possible
piece left is White’s black-square bishop.
Responses were also received from Eric
Jamin, Harry Zaremba, Peter Silverberg,
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EA Nordstrom, Edward Gaillard, John
Rotramel, Elliot Roberts, Kevin O’Brien,
Frank Rubin, Harry Nelson, Winthrop
Leeds, John Reed, Gerald Blum, Bruce
Parke, George Mavcou, Robert Baird, Ed
Poor, Paul Greenfeld, Edgar Ezcurra,
Theodore Edison, Peter Groot, Philip
Cohen and the proposer, James S. Was-
vary.
JAN 1 Set the chess men in their normal
starting positions. White and black are to
work together to checkmate (selfmate)
white, with the restriction that black is not
allowed to make any captures, What is the
minimum number of moves if black is to
move (a) only pawns, (b) only one
knight, (c) only one pawn once and the
queen, (d) only one pawn once and a
bishop, (e) only one pawn once and a
rook, and (f) only one pawn once and the
king?

The following is a composite of the
solutions submitted by Frank Rubin, Kevin
O’Brien, and the proposer, Andrew Fink:

A B

1 P-X3 P-K4 1 PKN3  N-QB3
2 K-K2  P-Q4 2 P-K3 N-K4
3 XK-Q3 P-QB3 3 N-K2  N-KB§
4 QK2  P-QB4
5 N-QB3 P-B5
c D
1 B-KN4 P-K3 1 B-KB3 P-K3
2 P-XB3  Q-R5 2 P-KN3  B-K32
3 P-KN4 B-R5
E F
1 P-QN3 P-QR4 1 P-KB3 P-Q3
2 P-QB4 R-R3 2 K-B2  K-Q2
3 B-R3 R-K3 3 K-N3  K-K3
4 B-N4  RK6 4 K-R4  K-B4
5 Q-B2 R-QB6 5 P-Q3  KXK3
6 Q-K4  R-BS 6 B-B4 K-B4
7 B-N3  K-N4

JAN 2 Barry Basset makes berry baskets
with six pieces cut from a rectangular
strip of stock material, using the accom-
panying pattern for his no-waste dissection.
Three of the pieces are isosceles trapezoids
and another is made from two halves; the
sixth piece is the bottom of the basket,
which when finished looks like the iso-
metric figure. If the area of the strip is
one square foot, what is the level-full
capacity of the biggest berry basket Barry
Basset can make?

Very interesting responses to this one.
Every response agreed to four places, but
there most differed. Both Robert Pogoff
and Dr. Winslow Hartford arrived at a
high-order polynomial which they used
some numerical method to solve (or cir-
cumvent). Jack Parsons fell into a trap
cleverly set by the proposer and assumed
that the horizontal section is a square. As
Mr. Rowe points out, this leads to a solu-
tion which is approximately .000 008 882
9 ft.3 too small. However, Mr, Parsons was
able to give an exact irrational answer,
whereas Mr. Rowe felt that anyone who
fell into the trap could only get an approxi-
mate solution (of the type found by Mr.
Pogoff and Dr. Hartford). My personal
favorite was submitted by Harry Zarmeba.
However, it uses the Lagrange multiplier
and every time I print such an “advanced”
solution readers tell me that this is sup-
posed to be a friendly column and not a
mathematics journal. The following solu-
tion (essentially an elementary version of
Mr, Zaremba’s) is from Eric Jamin, and
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a similar solution was received from the
proposer.

Nothing in the stated problem imposes,
as the drawing would make believe, the
bottom piece to be a square. So let it
rather be a rectangle of dimensions (2a)
X (2b). It is quite obvious that, with
sides being isosceles trapezoids, the top of
the basket will be a rectangle of dimen-
sions {(2a + 2y) X (2b 4 2y). Thus we
have the cutting pattern

2b a  2(b+y) 2a  2(b+y) a

A [N/ \

a+y 2b 2(a+y) 2b a+y

with constant area 2a(4a 4 6b 4 4y) =
A. Considering one fourth of the basket,
we have readily for the volume V

V/4 = abh (parallélipiped)

+ byh/2

(two prisms)
-+ ayh/2 }
+ y?h/3  (pyramid)

with the altitude given by

h = (4a? — y2)%,

Setting y = 2x and A = 12k, we have
b = k/2 — 2a/3 — 4x/3,

and

V/8 = (a2 — x2)% (ak — 2a%2/3 —

ax -+ kx/2;

or, letting z = x/a,

V/8 = (1 — z2)% (ak — 2a%/3

— adz 4 akz).

To maximize, we set the partials of V with
respect to a and z equal to zero. The first
ives

(1 —z2)% (k — 222 — 3a?z + kz) = 0.
Excluding the case 1 — z2 = 0, giving V
= 0, we have

z = (k — 2a?)/(3a% — k)

Since z must be positive we get

(k/3)% = a = (k/2)%.

Next set the second partial mentioned
above equal to zero and multiply both

sides of the resulting equation by
[(1 — z2)%]/a to get

—222 (k — a?) — z(k —2a2/3)

+ (k — a2) = 0.

Substitute back z = x/a and perform

some algebra to get 15(a2/k)2 — 25(a?/

k) +8=0

which gives a2/k = [25 = (145)%1/30.
The inequality given above forces us to
take the minus sign. Substituting back we
get (using the formula for V given above):

A3/2
V= 23 145) %

— (23 + (145)%)
(1046 — 38(143)%)%.
But we are given that A = 1 and com-
puting the square roots to three places
we get V is approximately .109.

JAN 3 Fill a 3-by-3 square with nine
letters so that eight three-letter words are
formed; the three rows are to be read left
to right, the three columns are to be read
top to bottom, and the two principal di-
agonals may be read in either order.

The following was submitted by Ronnie
Appel:

P ET
E R R
A NY

Also solved by: George Ropes, Mary
Youngquist, William Steel, C. R. Lakin,
W. ]J. Arendt, Avi Ornstein, Eric Jamin,
Gerald Blum, Frank Blum, R. Robinson
Rowe, and the proposer, Karl Kadzielski.

JAN 4 Given a unit circle and a point
on it, how large a circle, centered at that
point, would divide the area enclosed by
the unit circle into two equal pieces?

For this problem everyone had to use
some numerical method, so no exact solu-
tions were found. The following neatly
organized solution from R. Robinson Rowe
is typical of the techniques employed: '

In the figure, the area of the unit circle is
pi and the lune PAMB must have its half.
The area of the lune equals the sum of
the sectors OAPB and PAMB less the
overlapped quadrilateral PAOB. Let the
desired radius PA = PB = x = 2u and
the angle POB = ¢.

Sector OAPB has an angle 2¢ and radius
1.

Sector PAMB has an angle pi — ¢ and
radius x.

Quad PAOB = 4 rt triangles with base
u and hypothenuse 1.
Whence

¢+ ¥x2(n— ¢) —x/1l —u2 = Y%n
(1)
But sin ¢ = u = %x, so that (1) can
be reduced to either
w(x2 — 1) + (4 — 2x2)sin—1 Yox
—x\/4—x2=0, or (2)
Yha(1l — 2cos¢) + ¢cos¢p — sing = 0 (3)
Neither of these can be solved explicitly.
With tables, (3) might be easier, but with
a HP-45 computer, (2) worked best.
Since PM was greater than PO, I tried x
= 1.1 and 1.2 Interpolating the results,
I next tried x = 1.158 and 1.159. A sec-
ond interpolation led to this result:
x = 1.1587 28472
¢ = 1.2358 96923 = 70°48’42”
which checked (1) with 1.2358 96923 -
1.2793 42780 — 0.9444 43378 = 1.5707




96325, instead of 1.5707 96327. So the
above results are good to nine or ten
laces.

Also solved by Gerald Blum, Eric Jamin,
Robert Pogoff, Harry Zaremba, Dr. Wins-
low Hartford, and Mary Lindenberg.

JAN 5 A scoutmaster arrives with his
troop at the local bus depot en route to a
nearby camping site. Upon walking up to
the information agent’s booth and sub-
mitting a certified check for $52.93 for
full payment of the fares of the entire
troop (all of the scouts and his own fare,
all fares being equal), the scoutmaster is
told by the agent that due to the newly
enacted “exact-fare” policy, each of the
members of the troop will have to pay his
own individual fare, giving the driver the
exact amount. The agent then proceeds to
cash the check, thus exchanging the total-
payment check for individual exact-fare
amounts which are distributed to members
of the troop. As each scout boards the bus,
he pays to the driver his individual fare
with five coins—the exact same five coins
that each other member of the troop
utilizes in paying his individual fare. The
driver counts the fares collected from the
troop and finds that the troop did, in fact,
wind up paying the originally calculated
amount of the check. How many total
nickels did the driver receive?

The following is from Steve Sussman:
The prime factors of 5293 are 79 and 67.
Therefore 79 scouts paid 67¢ each or 67
scouts paid 79¢ each. A fare of 79¢ in 5
coins requires 4 pennjes and a 75¢ piece
which is not in our repertoire. It follows
that the fare is 67¢ made up of a half dol-
lar, a dime, a nickel, and two pennies. The
driver received 79 nickels.

Also solved by: Eric Jamin, Kevin
O’Brien, Thomas Kauffman, Mary Young-
quist, Gerald Blum, Robert Pogoff, Harry
Zaremba, Dr. Winslow Hartford, R. Robin-
son Rowe, Frank Rubin, W. J. Arendt,
C. R. Lakin, William Steel, Howard Ostar,
and the proposer, Raymond P. Kremen.

Better Late Than Never

There are many contributions to PERM 1,
which began life as O/N3 (see above).
The first solutions were published in this
column in February; now there are more:
Col. E. W. Kelley has made the following
corrections:

34 =(7-31+9+1 86=79+3 +1
97 =1+ (9 +7) 3! 98 =7(9 + 3! - 1)
99 =97 + 3 -1 103 = 8I/7! + 31

Thanks to Richard Haberman, our list can
be extended to 130 without the greatest
integer.

100 = (31 + 1)/7 + (/9)

116 = (Vo) — 1! + 3 = 7
117 = 31I/(7 — 1) — V9
118 =@= 1) +7—-9
122 =3 =1l + 9-7
123 = 31/(7 — 1) + VB
130 = (31 — ! + 7 + VO

Y. Iwasa has extended our solution to 150
without greatest integer except for 135
and 149:

131 = 137 — V9!
132 = 139 — 7
133 = 931/7

134 = 137 — V9

135 = 137 — [\/(\/6)1 ]

136 =(19-7) + 3

187 =(1 + 3 -V01 =7
138 = {(7 — Vo)l = 1} - 31
139 = (19 - 7) + 38!

140 = 137 + V9

141 = (V91— I+ 3+ 7
142 = 71 - VO 1/3

143 = 137 + V91

144 = QU7 - @3 - 1)
145 = (7 - V)l - 3] + 1
146 = 139 + 7

147 = 7 <9 =3l

148 = 37 - (VO + 1)

149 = wm G+ +9
150 =17 -9 - 3

The grandest of the grand is Bruce Apple-
bee’s extension up to 250. Of course he
uses greatest integer. Our next goal would
seem to be 135 and 149 without greatest
integer.

151 = VOIIAT — 8) + 1

152 = [VOU/(8 + 1) + [VTI
153 = [/ + D! + 71
154 = (71 + (Vo)) x [v31
155 = (3/(9 + DI + VTl
156 = 9 x 17 + 3 .
157 = V71 (81 = 1)1 — [\/ \/'5]
158 = 79 x (3 — 1)
159 =(3 + 1)l x 7 — 9
160 = (71 + 9) x [V3ll
161 = V71 (3] — 1)1 + VO
162 = [\/\/gr] x7-1x3l
163 = (V71 - 311 — 9 — 1
164 = [v71 - 311 — 9 x 1
1/31
165 = [(9 + 7!
166 = [\/71(\/9‘)1 ]- 31 -1
167 = [\/71(\/5)1 ] -3 x1
168 = (71 /(VOH/(3! — 1)
169 = 1307
170 = [v71 x 811 — 1 x V9
171 = [V7I x 311 + 1 — V3
172 = V7T x 311 — 1°
178 = 10 x [V7! x 311
174 = V7T x 811 + 1o
175 = [V7T x 811 + V8 — 1
178 = [VTl x 811 + 1 x /9
177 = [VTI x 311 + V9 + 1
178 = 179 — (/31
179 = 131 x 179
180 = 179 + [V/3]
181 = 179 + [V31
182 = 179 + 3
183 = 91 x V71 +1
184 = 179 + [\/\/3'11]
185 = 179 + 3!
186 = 193 — 7
187 = 93 x [VTI + 1
18 =9-.7-3 =1
189 =9.7-3-1
190=9-7-3+1
191 =197 - 31
192 = 193 -[\/ \/']
193 = [\/\/7] x 193
194 = 97(3 — 1)
195 = [391 /[V711
196 = 197 — [v/3]
197 = 197 x [\V3]
198 = 197 + [V/3]
199 = 197 + [v3N
200 = 197 + 3

201 = V@ — 1) x 711 + [V3)
202 = [V(9 — 1) x 711 + [V30
203 = 197 +

\/ __Lv3ll
204 = (vl

+[\/<\/§)‘x]

205 = [v8 - 711 — 31 — 1
206 = [v9 - 711 + 3l
207 = [v8 - 711 — [V31]
208 =781 -9
209 =[O 71 — 31
210 =713 — V9
211 [vO - 711 — 1Is
212 = 12 (/9 - 71)
213 = [vVO - 711 + 18
214 =731 - V9
215 =[v9-71 +3-1
216 = [VO - 711 + 3 + 1
217=7-31x[\/\/§']
218 =7 - 31 + [\/\/9']
219=7-31 + [\/(\/3)!]
220 = 7 - 31 + V9

221 =7 - 31 +

V]

222 =7
223 = 7 - 31 + (VO)! —_—
224 = 3 [\/\/_] _[\/\/5'!']

[ [V

225 =
226 =7+31 + 9
227 =3 + VO + 1) -7

228 = 7! /([ \/\/ﬂ— V71 ]) -

229 = 3 - [V7I1 + 19

wo-n [([Vm]

231 = 3UAT - [\/_\‘/‘7:1] -1

232 = BUAQ -7 - 1
233 = 31A/0Q - 7.1
234 = 81IA0 — T + 1

235:3-[\/ﬁ1+[\/\/ﬁ] +1

236 = 311 A9 — [VITI]
237 = 3I/V9 — [VT] =1
238 =1 - 3IANV9 — [VT]

239:(\/79-!—)-(7+3)—1
240 = [vV31 x (9 - 7)
241 =781 + [\/\/'9'1]

- [\/71) +1

242 = 1 - 31 A9 + V71

(V71 + 1)
243 =9 /3

244 = 31 [ vvr [\/\/\/m}

245 = 3UA9 + [\/\/(7 - 1)!]
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246 = 3N A9 + T — 1
247 =3B + 71

a[Vial. [Ve]

248 =
249 = 3l I{\/\/\/ﬁ} + V=1
250 = 31 I[\/\/v§11+1-\/71

Responses were also received from: D. S.

Romano, Roy Schweiker, Ira Abbott, Bob

Sutton, Hank "Heiberg, Douglas Hoylman,

Ecmanno Signorelli, and Smith D. Turner,
Responses to other problems have been

received as indicated.

O/N 2 Yvon Neptune.

DEC 1 Stephen Strauss.

DEC 4 Harry Zaremba and Eric Jamin,

DEC 5 Eric Jamin and Roger Lustig.

Speed Solutions

The proposers’ solutions to the speed
problems are:

SD 1 a. All integers 2 to 100; b. All inte-
gers 51 to 99.

SD 2 Put the Black king on Black’s QRSq;
then the white queen moves to QB8 for
the checkmate.

Allan ]. Gotilieb studied mathematics at
M.IT. (S.B. 1967) and Brandeis (A.M.
1968, Ph.D. 1973) he is now Assistant
Professor of Mathematics at York College
of CUN.Y. Send problems, solutions, and
comments to him at the Department of
Mathematics, York College, 150-14 Jamaica
Ave., Jamaica, N.Y., 11432,

Cohn

Continued from p. 8

reactors; solar energy collectors; super-
conductor  generators,  superconductor
transmission cables.

The report recommends a series of goals:
careful ocean mining; substitution of glass,
aluminum, and magnesium for scarcer sub-
stances; a search for new ways of manu-
facture that eat less emergy than cold-
forming and machining; robot mining;
and far more serious efforts to recycle ma-
terials and develop suitable uses for them.

Here, too, one can go back to the Fifties
and find the beginning of a stack of
equally sensible reports on natural re-
sources and materials. Not all of them have
been totally ignored: they have merely been
mostly ignored, and especially so by the
top policy-makers.

While we are designing an “Operation
Independence,” why not broaden it to en-
compass the resources and materials we
will need for many uses? How soon other-
wise will a sore-pressed President have to
rush Congress a “materials crisis” mes-
sage?

Another crisis down the road will ap-
parently be one of food shortages and
famine, if the phrase “down the road”
can be applied w}l)len much of West Africa,
the arid Sahel, has already been affected.
The warnings here are multiplying now
like the “coming energy crisis” warnings of
the past. The crisis here would not be
national but international, however.

The National Science Foundation
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promised in March to examine possibil-
ities for new research and development
efforts on both food and materials through
its new Science and Technology Policy Of-
fice, the still untried successor to the dis-
carded White House Office of Science and
Technology. This assignment would seem
to be one of N.S.F.s first tests as an
originator of federal science policy.

Victor Cohn reports on major science-
oriented affairs for the Washington Post.

Books

Life’s Goals
Achieved;
What Can Follow?

Return to Earth

Edwin E. Aldrin, Jr., with Wayne Warga
New York: Random House, 1973; 338 pp.,
$7.95

Reviewed by James E. Oberg

In general outline “Buzz” Aldrin’s career
is well known to most Americans. A gradu-
ate of West Point, Colonel Aldrin was a
fighter pilot in the Korean War and then
was assigned fighter duty in Europe and
elsewhere. After earning his Se.D. (includ-
ing a thesis in orbital rendezvous) at
M.I.T., Aldrin became an astronaut in
1963. He was co-pilot on a Gemini flight
in 1966, served on the back-up crew for
the first flight around the moon (Apollo 8),
and was on the crew of Apollo 11; as such,
Aldrin became the second man on the
moon on July 20, 1969.

Back from the moon, and following a
series of world tours, tumultuous parades,
and assorted ceremonial functions, Aldrin
left N.A.S.A, Jate in 1969 to become Com-
mandant of the Aerospace Test Pilot
School at Edwards Air Force Base. He
retired from the Air Force the following
year amid growing rumors of mental prob-
lems, severe depressions, and psychiatric
help.

In Return to Earth Aldrin has written
two books in one, confirming in effect
that he has in fact lived two lives in one.
The book is a full account of the two
important voyages of his life: to the moon
and back, and into his own mind. The
two half-books may not appeal to a single
audience; most readers may be tempted
to skip one or the other half. But that is
not what the author intends, for Aldrin’s
purpose is to show that both halves are
important for ordinary people as well as
for people who walk on the moon.

The first half—Aldrin’s astronaut train-
ing, his two space flights, the technologi-
cal, engineering, and scientific problems
which had to be faced and overcome to
put a man on the moon—is all that any-
one can ask for. One might suspect that
it has all been told before, but many re-
vealing aspects of space flight could not
be described by a man in the pay of
N.A.S.A., writing for a family magazine.

When Armstrong, Aldrin, and Collins
return to Earth from the moon, Aldrin’s
most important journey was only begin-
ning. The book in fact begins with Apollo
11 splashing down in the Pacific, in a

sense to emphasize Aldrin’s feeling that
what came after was his real “return to
Earth”.

The reader may be tempted to assume
that the pressures of parades and publicity
might be enough to unhinge any man.
But Aldrin makes it clear that it was not
these pressures—which his colleagues and
earlier space heroes like John Glenn had
successfully parried—that brought on his
depression, mental problems, and “dys-
function.” When he finally sought psychia-
tric counseling—counseling too long de-
layed by friends’ disability to believe that
an American here might be anything but
perfect and by Aldrin’s concern that a
psychiatric record might ruin his career—
Aldrin probed deep into his own mind to
find the real reasons for his problems.

According to Aldrin, his trouble began
with success. He had always been goal-
oriented, accepting first his father’s guid-
ance, then the rigid codes of West Point,
then the directions specified by the Air
Force and N.A.S.A. That he truly loved
his work was beside the point. Suddenly,
in 1969, he was back from the moon a
hero, with the chance to write his own
ticket.

But what could he do to match what
he had already finished?

The poets, Aldrin tells us, write of “the
melancl?oly of all things done.” Worse
than Alexander the Great, Aldrin literally
had no more worlds to conquer. Phi-
losophers have eternally speculated about
what would happen to a man who sud-
denly achieved all his heart’s desires; most
agreed that it would not be a happy end-
ing.

gPerhaps we should fault Aldrin for his
inability to form real goals in his life; but
if we follow that reasoning we come very
close to home, each of us having his own
goals toward which he strives and—per-
haps mercifully—only approaches but
never reaches,

Here Aldrin makes a point for all of us.

His mental problems would not have
been so serious if at any time he had
been able to talk to others as a man, not
as a space hero. He delayed seeking pro-
fessional counseling for almost too long,
and so he concluded to write a book about
the factors which prevented him from
seeking help. Currently, as a Director-at-
Large for the National Association for
Mental Health, he has found a new and
meaningful goal: help people recognize
their needs for psychiatric counseling, and
help them find it soon enough.

The courage of astronauts flying small,
fragile spaceships out to the moon and
back is proverbial, although the astronauts
themselves disclaim any glory or credit for
it. They know their spacecraft, and are
voyaging along routes well charted and
laboriously practiced. Aldrin’s point is that
he has now journeyed on a truly dark and
mysterious voyage of a kind which any of
us may one day have to face. His courage
in describing his own journey may help
thousands, if they have in themselves
courage enough to listen and learn.

Captain James E. Oberg (US.AF.) is a
member of the staff at the Department of
Defense Computer Institute in Washing-
ton; he writes frequently on the Soviet
and American space programs.



